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OEMA 2,

A.0<p(A)L1=0<2p(A)<2<=3<2p(A)+3<5 Apa 2P(A)+3>0
0<p(A)£1<—-1<p(A)—-1<0.Apa P(A)-1 <0.
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0 P(B) piZa tnc efiowonc 6x? —x—1=0 ,n omnola éxel pilec TOUC APOPOVC > —5

ETOUEVWG P(B)=% adov P(B)>0

B.P(AuB)=P(A)+P(B)-P(ANB)==+
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r.P[(ANB)]=1-P(ANB) :%

QEMA 3,

A. Npémnel A>0

A0 [-A-Df —4(-A+]) >0 A2 20 +1+41—4> 012 + 20 —320

Apa : A € (—o0, -3 U1, +o0)
B. MNpénel A=0.Apa A=-3 7 A=1
r.S=A-1 kat P=-A+1
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3IL-1|-2|A-1<8<|A-1kk8<= 8<A-1<8=-T<A<9



QEMA 4,
A A =R-{L3}
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B. LJF 21 >0<:>X_1+u>0<:>3(x—1)+(x—1)2>0<:>
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X=-DB+x-1D)>0<= (X-D(X+2) >0 X e (—0,-2) U(L,+x)
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